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SECTION 3: ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its
number in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. Dogs have a very strong ____ of smell.

(1) cow (2) window (3) country (4) sense
2. Field flowers ____ out during summertime.

(1) slow (2) dry (3) cliff (4) fear

3. Before making an important decision, one should always ask for _____

(1) advice (2) questionable (3) below (4) assume
4. The polar bear can ____ in a very cold weather.

(1) contract (2) conclude (3) drive (4) survive
5. ____ the stormy weather, the teacher decided not to postpone the trip.

(1) Rather (2) In addition (3) In spite of (4) Moreover
6. Following an intense chase, the criminal was finally ____ by the police.

(1) solved (2) deleted (3) arrested (4) thrived

7. Although antibiotics cure many diseases, it also has many ____.

(1) disadvantages (2) crops (3) dialects (4) pianos
8. Scholars claim that the ____ of the Roman Empire was a result of political

instability.

(1) decline (2) depiction (3) triangle (4) roasting
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Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of
restating the main idea of that sentence in different words. For each question, choose
the one restatement which best expresses the meaning of the original sentence.

9. In spite of his experience in teaching, he was not hired for the job.

(1) Due to his experience in teaching, he was not hired for the job.

(2) Although he had experience in teaching he was not hired for the job.

(3) Even though he was a great teacher, he was hired for the job.

(4) He was not hired for the job and did not have experience in teaching either.

10. Many people argue that selling fur is immoral, and therefore should be banned.

(1) Many people argue that selling fur is immoral, and it has therefore been
banned.

(2) A large number of people argue that selling fur is morally wrong, and should
therefore not be allowed.

(3) Most people argue that since selling fur is morally acceptable, it should
therefore be banned.

(4) Many people argue that although selling fur is moral, it should be banned.

11. Photography is no longer considered to be an objective reflection of reality; it is
currently perceived as a subjective interpretation of reality.

(1) Photography is presently regarded as a subjective interpretation of reality, but
in the past, it was regarded as an objective reflection of reality.

(2) Photography is regarded as an objective reflection of reality today, although
it was considered to be a subjective interpretation of reality in the past.

(3) Due to the fact that photography was perceived as an objective reflection of
reality, it is currently regarded as a personal interpretation of reality.

(4) Many people believe that photography is an objective reflection of realty,
although experts regard it as a subjective interpretation of reality.

12. The criminal, who was interviewed by major television channels, was convicted
for assassinating the Prime Minister after a long and controversial trial.

(1) During his long and controversial trial, the criminal was interviewed by the
main television channels, which convicted him for assassinating the Prime
Minister.

(2) The criminal, who was interviewed by all the television channels, was
convicted for assassinating the Prime Minister after a brief trial.

(3) The main television channels interviewed the criminal, who was convicted
for murdering the Prime Minister after a long and contentious trial.

(4) The television channels that interviewed the criminal led to his conviction
after a long and controversial trial.

<@ xan Inyy TUnH I



INN P9 29 NN NN

Reading Comprehension
This part consists of two passages, each followed by several related questions. For
each question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)
Ludwig van Beethoven was born in Bonn, Germany in 1770. At the age of
4, his parents understood that he had a talent for music, and by the age of 7 he
was already playing in public. Beethoven’s father was his first teacher. He
forced Beethoven to play, hoping that he would become famous and make the
5) family rich.

The man was said to be a violent drunk who would wake Beethoven at all
hours of the night to play music for his drinking friends. Despite this abuse and
his father’s brutal teaching methods, Beethoven developed an incredible talent
for music. As a teenager, he was moved from teacher to teacher until he found

(10)  Mozart, who immediately recognized his talent for music and was reported to
have said, “Some day this lad will force the world to talk about him.”

At the age of 12, Beethoven published his first work, and in his early
twenties he moved to Vienna, where he studied with Haydn. Beethoven settled
in Vienna and quickly gained a reputation as a virtuoso pianist.

as)

It was in 1801 that Beethoven started to experience signs of deafness. When
he finally went deaf, he realized that his career as a pianist was over, and began
composing. Beethoven’s first symphony was published around this time. In
1803, he wrote his third symphony, which was revolutionary. Beethoven was
completely deaf by the time he wrote his ninth symphony. He died at the age of

(20) 56, never having married.

Questions

13. The text is mainly about -

(1) Beethoven, Mozart and Haydn
(2) Beethoven’s life

(3) Beethoven’s deafness

(4) Beethoven’s symphonies
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SECTION 3: ENGLISH

This section contains 22 questions.
The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its number
in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. Dogs have a very strong ____ of smell.

(1) cow (2) window (3) country (4) sense
2. Field flowers ____ out during summertime.

(1) slow (2) dry (3) cliff (4) fear
3. Before making an important decision, one should always ask for ____

(1) advice (2) questionable (3) below (4) assume
4. The polar bear can _____in a very cold weather.

(1) contract (2) conclude (3) drive (4) survive
5. ____ the stormy weather, the teacher decided not to postpone the trip.

(1) Rather (2) In addition (3) In spite of (4) Moreover
6. Following an intense chase, the criminal was finally ____ by the police.

(1) solved (2) deleted (3) arrested (4) thrived
7. Although antibiotics cure many diseases, it also has many ____.

(1) disadvantages (2) crops (3) dialects (4) pianos
8. Scholars claim that the ____ of the Roman Empire was a result of political

instability.

(1) decline (2) depiction (3) triangle (4) roasting
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Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating
the main idea of that sentence in different words. For each question, choose the one
restatement which best expresses the meaning of the original sentence.

9. In spite of his experience in teaching, he was not hired for the job.

(2) Due to his experience in teaching, he was not hired for the job.

(2) Although he had experience in teaching he was not hired for the job.

(3) Even though he was a great teacher, he was hired for the job.

(4) He was not hired for the job and did not have experience in teaching either.

10. Many people argue that selling fur is immoral, and therefore should be banned.

(1) Many people argue that selling fur is immoral, and it has therefore been
banned.

(2) A large number of people argue that selling fur is morally wrong, and should
therefore not be allowed.

(3) Most people argue that since selling fur is morally acceptable, it should
therefore be banned.

(4) Many people argue that although selling fur is moral, it should be banned.

11. Photography is no longer considered to be an objective reflection of reality; it is
currently perceived as a subjective interpretation of reality.

(1) Photography is presently regarded as a subjective interpretation of reality, but
in the past, it was regarded as an objective reflection of reality.

(2) Photography is regarded as an objective reflection of reality today, although it
was considered to be a subjective interpretation of reality in the past.

(3) Due to the fact that photography was perceived as an objective reflection of
reality, it is currently regarded as a personal interpretation of reality.

(4) Many people believe that photography is an objective reflection of realty,
although experts regard it as a subjective interpretation of reality.

12. The criminal, who was interviewed by major television channels, was convicted
for assassinating the Prime Minister after a long and controversial trial.

(1) During his long and controversial trial, the criminal was interviewed by the
main television channels, which convicted him for assassinating the Prime
Minister.

(2) The criminal, who was interviewed by all the television channels, was
convicted for assassinating the Prime Minister after a brief trial.

(3) The main television channels interviewed the criminal, who was convicted for
murdering the Prime Minister after a long and contentious trial.

(4) The television channels that interviewed the criminal led to his conviction after
a long and controversial trial.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)
Ludwig van Beethoven was born in Bonn, Germany in 1770. At the age of
4, his parents understood that he had a talent for music, and by the age of 7 he
was already playing in public. Beethoven’s father was his first teacher. He
forced Beethoven to play, hoping that he would become famous and make the
5) family rich.

The man was said to be a violent drunk who would wake Beethoven at all
hours of the night to play music for his drinking friends. Despite this abuse and
his father’s brutal teaching methods, Beethoven developed an incredible talent
for music. As a teenager, he was moved from teacher to teacher until he found

(10)  Mozart, who immediately recognized his talent for music and was reported to
have said, “Some day this lad will force the world to talk about him.”

At the age of 12, Beethoven published his first work, and in his early
twenties he moved to Vienna, where he studied with Haydn. Beethoven settled
in Vienna and quickly gained a reputation as a virtuoso pianist.

s)

It was in 1801 that Beethoven started to experience signs of deafness. When
he finally went deaf, he realized that his career as a pianist was over, and began
composing. Beethoven’s first symphony was published around this time. In
1803, he wrote his third symphony, which was revolutionary. Beethoven was
completely deaf by the time he wrote his ninth symphony. He died at the age of

(20) 56, never having married.

Questions

13. The text is mainly about -

(1) Beethoven, Mozart and Haydn
(2) Beethoven’s life

(3) Beethoven’s deafness

(4) Beethoven’s symphonies
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14. Inline 11, “lad” can be replaced by -

(1) teacher

(2) young man
(3) music

(4) Mozart

15. It can be inferred from the text that Beethoven started going deaf -

(1) in his late twenties
(2) in his early thirties
(3) in his late fifties
(4) at the age of twelve

16. According to the fourth paragraph, Beethoven’s third symphony was -

(1) never published
(2) revolting

(3) radical

(4) conventional

17. It can be concluded from the text that -

(1) Beethoven was happily married

(2) Beethoven was Mozart’s teacher

(3) Mozart was Beethoven’s teacher

(4) Mozart is more famous than Beethoven
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Text II (Questions 18-22)

®)

10)

s)

Shamanism is based on traditional beliefs similar to Animism, which is the
belief that souls inhabit animals and that the whole universe is alive and
interconnected. Shamanists claim to be able to cure physical and emotional
illnesses as well as solve problems using powers from the natural and spiritual
world - something like a “witch doctor”.

Shamanism originated from the Siberian Tungus tribe, and the word shaman
literally means: he or she who knows. The practice includes drumming,
chanting, hallucinogens, trance and apparently communicating with the spirits
and healing.

Shamanistic practices precede organized religions, and it is said that these
practices were repressed with the spread of Christianity. Today there are
westernized forms of Shamanism, and have even been efforts to link it to
scientific beliefs.

Some people claim to have been attracted to Shamanism after a serious
illness or a near-death experience. Others have apparently inherent Shamanistic
powers and are “called” to become a shaman. As regards healing, a shaman is
reportedly possessed by a spirit guide or “power animal” which guides the
shaman in the healing process. Critics claim that this can be dangerous because
it leads to various occult practices and could be related to cultism. However,

(20)  Shamanists claim that they are simply exploring their unconscious “higher self”
in order to benefit the entire universe.
Questions

18. The text is mainly about -

(1) how to become a shaman

(2) the practice of Shamanism

(3) the effect of Christianity on Shamanism
(4) the shamanistic cult

19. It can be inferred from the text that Shamanists are -

(1) healers
(2) atribe
(3) drums
(4) spirits
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20. Inline 10, “precede” can be replaced by -

(1) dates earlier
(2) preclude
(3) follow

(4) prefer

21. According to critics, Shamanism is -

(1) outdated and obsolete
(2) dangerous to animals

(3) isa cult

(4) can proceed to occultism

22. According to the last paragraph critics and Shamanists -

(1) agree that Shamanists had a near death experience

(2) disagree regarding the usage of animals in rituals

(3) agree that shamanists are helpful in most cases

(4) disagree about the effects of Shamanism on the followers
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SE CTION 3: ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its
number in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each

question, choose the answer which best completes the sentence.

1. Carrots are traditionally used as noses when a snowman.

(1) sewing (2) building (3) walking (4) hitting

2. Kite flying is common in China, Japan, India, Thailand and in many other eastern

(1) countries (2) centuries (3) controversies  (4) columns
3. Fingernails and hair continue to ____ for several days after a person's death.
(1) close (2) slow (3) blow (4) grow

4. Puccini's opera, Madam Butterfly, tells the sorrowful story of a young Japanese
woman who is married to and then by an American sailor.

(1) disappeared (2) abandoned (3) presumed (4) decreased

5. Although the Jews of Europe were the main victims of the Holocaust, other
minority ____ were also persecuted and murdered by the Nazis.

(1) sources (2) dialects (3) mistakes (4) groups

6. Counting sheep is a favorable method for inducing sleep, but imagining a beach
or a waterfall seems to be more

(1) effective (2) destructive (3) insensitive (4) collective

7. Although drinking coffee has many disadvantages, studies show that it the
risk of dying from heart disease.

(1) decreases (2) confiscates (3) profits (4) discriminates

8. It is commonly believed that rainforests provide much of the oxygen in the world,
but in fact they as much oxygen as they produce.

(1) conclude (2) consume (3) impart (4) distress
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Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of
restating the main idea of that sentence in different words. For each question, choose
the one restatement which best expresses the meaning of the original sentence.

9. Susan was so unhappy in her old school that she decided to transfer to a different
school.

(1) Because Susan was happy in her old school she decided to move to another
school.

(2) Susan decided to move to a different school, due to the fact that she was
miserable in her old school.

(3) Despite the fact that Susan was so unhappy in her old school, she decided to
transfer to a different school.

(4) Although Susan was so unhappy in her old school, she decided to transfer to
another school.

10. A member of the Knesset suggested that the English language will replace
Hebrew and Arabic as Israel’s official language.

(1) It has been suggested by a member of the Knesset that Israel’s official
language should be English instead of Hebrew and Arabic.

(2) A Knesset member has suggested that English, Hebrew and Arabic should be
the official languages in Israel.

(3) According to a member in the Knesset, English has replaced Hebrew and
Arabic as Israel’s official language.

(4) Having Arabic replace Hebrew and English as Israel’s official language has
been suggested by a member of the Knesset.

11. Although there have been numerous difficulties, the team members are confident
of their success.

(1) Due to the fact that there have been many difficulties, the team members are
confident of their success.

(2) In spite of many difficulties, the team members are confident that they will
succeed.

(3) Because of the numerous difficulties, the team members are confident that
they will succeed.

(4) The team members are sure that they will succeed, since there have been
many difficulties.
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12. While military duty is open to older applicants, most reservists get involved
y duty p pp g
young, often when their motivations are vague.

(1) Even though most reservists get involved at a young age when their
motivations are not clear, military duty is open to older applicants.

(2) Because most reservists get involved in the military at a young age, their
motivations are often vague and thus military duty is open to older applicants.

(3) Often the motivations of military are vague, however military duty is mostly
open to older applicants rather than those who get involved when young.

(4) Because military duty is open to older applicants, most reservists get involved
when young, often when their motivations are vague.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For
each question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

Home education or home schooling - the education of children at home
rather than in a school - is not a new trend; in the 19 century, before attendance
in school became compulsory, most education took place within the family and
the community, while only a small number of families sent their children to

5) schools or employed tutors.

Modern home schooling was reestablished with the rise of government
schools in the late 19" and early 20" century. Families that could not send their
children to school in those rural places where schools were not very common,
hired private tutors to teach whole groups of children. In families where hiring

(10)  tutors wasn't an option due to financial difficulties, the children were taught
only the farm chores and some basic studies in mathematics and spelling. That
was the case in many rural communities before 1860. Famous figures such as
Abraham Lincoln, Theodore Roosevelt, Thomas Edison and Woodrow Wilson
did not acquire formal education and were home educated.

(15) One option for parents who want to educate their children at home
nowadays is the "umbrella school" system. The parents form correspondence
with a school that supervises their instruction. Another option open for parents
is the "curriculum in a box". It first appeared in 1906 in Calvert Day School of
Baltimore in Maryland, where the school formed a program that included many

(20)  study materials for parents who wanted to teach their children at home. The
materials were sold in a bookstore in Baltimore. Such materials are now the
basis for lessons for more than 350,000 children in more than 90 countries.
More than anything else, home schooling provides parents with the opportunity
to supervise their children's education and teach them what, in their opinion,

(25)  cannot be taught in regular schools. But most parents do not seize this
opportunity and prefer that their children will be taught in schools rather than at
home.

Questions

13. According to the text -

(1) home schooling is the most popular form of schooling today
(2) school attendance was not compulsory before the 19" century
(3) "home schooling" is the not the same as "home education”
(4) school attendance was compulsory until the 19" century
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14. The second paragraph is mainly about -

(1) Roosevelt, Lincoln, Edison and Wilson

(2) the "curriculum in a box"

(3) the origins of home schooling

(4) government schools that taught farm chores

15. The third paragraph -

(1) informs us of the number of pupils that are educated at home

(2) introduces two systems for home education

(3) demonstrates how the "curriculum in a box" method is better than the
"umbrella school"”

(4) shows the benefits of taking a correspondence course

16. According to the third paragraph -

(1) most children are home schooled due to the fact that it provides a better
education

(2) home schooling is an alternative for parents who want their children to study
what they believe to be important

(3) most children don’t attend school

(4) most parents feel that home schooling provides a better education

17. An appropriate title for this text would be -

(1) Educating without school

(2) The influence of rural areas on home schooling
(3) Home schooling - the optimal choice

(4) Home schooling in ancient times
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Text II (Questions 18-22)

®)

(10)

15)

(20)

Much can be gained by the study of Marine biology, the scientific field that
deals with plants, animals and other organisms in the ocean. Marine life is a vast
resource for food, medicine and materials, and also helps maintain life on shore.
Much of the oxygen we breathe is produced by marine organisms, and it also
regulates the earth's climate.

Marine biology encompasses all life forms from thin layers of water to the
depths of the ocean. It studies many habitats, including coral reefs, pools, the
bottom of the ocean and the open sea. It also covers many different life forms
from the plankton and phytoplankton, which are microscopic organisms that
provide nutrition to larger animals, to whales that can reach 33 meters in length.

About 71% of the earth's surface is covered with water and due to the
oceans' depth they provide habitat that is 300 times bigger than the natural
habitat found on earth. Therefore, a large proportion of life on earth exists in the
oceans and influences life on land including important life cycles such as the
carbon cycle and the air cycle.

Humans' acknowledgement of the importance of life at sea for life on land
produced the new discipline of marine conservation. Conservational activity
ranges from protecting the different ecological systems found at sea to the
protection of different marine species ranging from dolphins and whales to fish
consumed by humans. One of the major concerns of marine conservationists is
the impact of fishing and over-fishing.

Questions

18. According to the second paragraph, marine biology does not deal with -

(1) different habitats

(2) fishing

(3) microorganisms as well has big mammals
(4) ocean surface

19. It can be inferred from the third paragraph that marine organisms -

(1) affect environmental conditions on earth
(2) affect conditions in the sea only

(3) are for the benefit of tourists

(4) have no effect on the planet
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20). According to the third paragraph, the oceans' surface are -

(1) more than 34 of the earth's surface
(2) 3% of their depth

(3) less than % of the earth’s surface
(4) exactly % of earth's surface

21. The last paragraph is mainly about -

(1) different life cycle initiated in the ocean
(2) the life of whales in the deep ocean

(3) preservation of all aspects of ocean life
(4) exploring the deep ocean

22. An appropriate title for this text would be -

(1) Marine biology curriculum

(2) The oceans of our world

(3) How shorelines are developed

(4) Marine life and its effect on our planet
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SECTION 2: ENGLISH This section contains 29 questions.

The time allotted is 25 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its number
in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-12)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. Grandma Olga is for her delicious chicken soup.
(1) tree (2) famous (3) foot (4) area
2. The musician Louis Armstrong wrote many popular songs, "What a
Wonderful World".
(1) such as (2) with (3) concerning (4) or
3. Riding a bus may be than driving a car, but bus rides tend to be more
enjoyable.
(1) smaller (2) stronger (3) slower (4) stiffer

4. Neuschwanstein Castle, one of Germany's most popular tourist destinations, was
the for the Sleeping Beauty Castle in Disneyland.

(1) inspiration (2) condescension (3) obligation (4) anticipation

5. The term Noodle usually refers to moist, cooked pasta, but it is sometimes used in

reference to the pasta that must be reconstituted by boiling or soaking in
water.
(1) gilded (2) centered (3) demonstrated  (4) dried
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6. While most butterflies eat primarily nectar from flowers, some on rotting
fruit or tree sap.

(1) feed (2) clear (3) breathe (4) grease

7. The Harry Potter books may be condemned for their commercialization, but one
cannot deny their contribution in children to start reading books.

(1) creating (2) encouraging (3) satisfying (4) pacifying

8. A is often made between frogs and toads on the basis of their appearance;
however, this is not supported by any scientific classification method.

(1) dimension (2) discipline (3) distinction (4) clarification

Restatements (Questions 13-19)

This part consists of several sentences, each followed by four possible ways of restating
the main idea of that sentence in different words. For each question, choose the one
restatement which best expresses the meaning of the original sentence.

9. The burning of red or yellow plastic bags releases gases which poison the air and
pollute the atmosphere.

(1) Although red and yellow plastic bags are burned, gases are released which
poison the air and pollute the atmosphere.

(2) When gases poison the air and pollute the atmosphere, red or yellow plastic
bags should be burned.

(3) Gases which poison the air and pollute the atmosphere are released when red
or yellow plastic bags are burned.

(4) Even though this releases poisonous gases and pollutes the atmosphere, we still
burn red and yellow plastic bags.
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10. Prison officers found that allowing prisoners to keep pets is an effective way of

reducing tension and violence in jails.

(1) Reducing tension and violence in jails is done by prisoners, who find ways to
allow prison officers to keep pets.

(2) It has been found by prison officers that tension and violence in jails is reduced
when prisoners are allowed to keep pets.

(3) Keeping pets is an effective way of reducing tension and violence between
prisoners and prison officers.

(4) An effective way to increase tension and violence in jails has been found by
allowing pets to be kept by prison officers.

11.

During the Second World War, when the Nazis hunted and murdered the European
Jews, a lawyer from Australia found a way to save the lives of many Polish Jews.

(1) When the Nazis hunted and murdered the European Jews in Australia during
the Second World War, a Polish lawyer found a way to save their lives.

(2) A lawyer from Australia found a way to save the lives of many Polish Jews
who were hunted and murdered by the Nazis in the Second World War.

(3) The Second World War happened when a lawyer found a way to save the lives
of the Polish Jews hunted and murdered by the Nazis.

(4) The Second World War resulted in the Nazis being hunted and murdered by
the European Jews and an Australian lawyer finding a way to save them.

12.

Because Taureans are usually very unyielding and persistent about matters that are
close to their heart, their behavior can be annoying.

(1) Taureans' behavior can be bothersome, since they are often very stubborn and
uncompromising about issues that are close to their heart.

(2) Taureans are often persistent and uncompromising about concerns that are
close to their heart, but they are not annoying.

(3) The behavior of Tureans is usually bothersome, since they can not be
persistent and unyielding about matters that are close to their heart.

(4) Taureans are hardheaded and unyielding about issues which are close to their
heart, and this never makes their behavior annoying.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text I (Questions 20-24)

®)

(10)

(15)

Probably one of the most controversial, high-profiled issues on the
political and economic agenda - globalization - has been the subject of many
debates. Its advantages and disadvantages have been repeatedly preached by
many public figures in an attempt to win over the public opinion. The
questions revolving the subject are as much moral and ethical as they are
economic, and this results in a passionate, and sometimes violent, discourse.

In general, the term globalization refers to the world-wide spreading of
the three manufacturing components - capital, labor and material. Nowadays,
the process of manufacturing even simple items such as a pencil is carried
out in several different locations around the world. The lead might be mined
in Nigeria, the wood exported from Malaysia, and the work force and factory
reside in China.

The major argument of anti-globalization organizations is that though
manufacturing processes are global, the revenue earned from the sales of the
final product does not spread evenly. Namely - that the materials and labor
originate from third-world countries, and are cheaply priced, while the final
product sells for a much higher sum, comparatively, in western countries.
The difference between the price of manufacturing and the price of the final
product, the net profit, is pocketed by the western owners of the corporation

(20)  which makes the product. These profits sometimes add up to several billion
dollars a year, only a small portion of which finds its way to the poor
countries in which the product is manufactured.

Questions

13. The word "they" in line 5 refers to -

(1) moral and ethical issues

(2) disadvantages of globalization

(3) questions concerning globalization

(4) public figures who preach for globalization
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14. The main purpose of the second paragraph is -

(1) to explain and exemplify globalization

(2) to illustrate the process of manufacturing a pencil

(3) to give examples of different countries which are a part of the globalization
process

(4) to point out one disadvantage of globalization

15. The word "capital" in line 8 is similar in meaning to the word -

(1) city
(2) money
(3) great
(4) factory

16. According to the third paragraph -

(1) mostly the owners of big corporations benefit from globalization

(2) globalization makes it possible for people in third world countries to earn more
money

(3) the biggest disadvantage of globalization is that mostly western countries
benefit from it

(4) globalization enables corporations to cheapen manufacturing costs, thus
making the final product cheaper

17. The main subject of the text is -

(1) the sociological aspects of globalization
(2) the process of globalization

(3) why we benefit from globalization

(4) globalization and it's different aspects
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Text II (Questions 25-29)

It is the belief of most western adults, and parents in particular, that
young children do not grasp the fact of the finiteness of life. Death, we
gather, is a horrendous truth that is manifest only to those mature enough
to deal with it. This misconception leads many parents to attempt to shield

3) their children from death-related topics by denying death's existence to the
child, or else by ignoring the subject altogether.

But recent studies suggest that children may be able to comprehend death
at a much earlier developmental stage than we believe. In fact, there are great
differences between the way children comprehend death, and the way adults

(10) assume children comprehend death. One psychological research attempted to
compare the quantity of death-fear a child feels, with the quantity of death-
fear attributed to the child by his mother. The researchers asked both child
and mother separately to rate a list of concerns that may be troubling the child
according to severity. The results show that approximately 60% of the

(15) children expressed fear of death related concerns such as illness or accidents.
However, most mothers presumed their child to be distressed with more
trivial matters - lack of friends, sibling rivalries etc.

So if children sense the existence of death from an early age, why do they
not express their fears? The fact is that most children do express a fear of
(20) death, but this often goes overlooked. Mostly because usually death is not
explicitly mentioned, which prevents the parent from understanding the
child's true concerns; and also because many adults are reluctant to discuss
the subject themselves.

Questions

18. The purpose of the first paragraph is -

(1) to present adult misconceptions about death-perception among children

(2) to explain why children should not be confronted with the subject of death at
an early age

(3) to underline the strongest social taboo in western society

(4) to introduce methods of dealing with a child who exhibits death-fear
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19. What can be inferred from the research results presented in the second paragraph?

(1) children are generally not preoccupied with death, but with more mundane
concerns

(2) mothers usually believe their children to be obsessed with death and
death-related concerns

(3) mothers prefer their children to be preoccupied with trivial concerns rather
than with death-related ones

(4) children are usually more concerned with death than their parents believe them
to be

20). The word "overlooked" in line 20 is similar in meaning to the word -

(1) supervised
(2) disregarded
(3) understood
(4) undetermined

21. According to the third paragraph -

(1) children do not discuss their fear of death with adults, for fear of being
overlooked

(2) children attempt to discuss their fear of death with adults, but the latter tend to
overlook it

(3) adults urge children to discuss their fear of death, but children ignore these
attempts

(4) adults never explicitly mention death to their children, and therefore the
children learn to overlook death

22. An appropriate title for this text would be -

(1) What do children really know about death?
(2) Death conception among adults

(3) Why adults ignore their child's fear of death
(4) Should you talk to your child about death?
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SECTION 3: ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its
number in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. The Dead Sea is the lowest in the world.
(1) more (2) wind (3) gate (4) place

2. 70% of the water on planet Earth can be found in the of ice in Antarctica.
(1) form (2) pine (3) head (4) glass

3. The Ottawa Rules are a series of guidelines made to help doctors decide to

send a patient for an X-ray.

(1) wetter (2) which (3) while (4) whether
4. A “Count Room” is aroom ____for the purpose of counting large sums of
money.
(1) designed (2) refined (3) deprived (4) declined
5. Sharks can ____ a single drop of blood from the distance of two kilometers.
(1) decline (2) derive (3) devise (4) detect
6. Due to her gender and Polish origin, Marie Curie was not ____ to study in any

university in Russia.

(1) alienated (2) eliminated (3) allowed (4) aligned

7. Cowboys in early western films were clean-shaven, wore white hats, and often
used songs to their emotions.

(1) express (2) impress (3) distress (4) protect
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8. The growing concern for environmental issues has yet to bring on a major
change in the general public.

(1) biannual (2) ethereal (3) behavioral (4) antiviral

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of
restating the main idea of that sentence in different words. For each question, choose
the one restatement which best expresses the meaning of the original sentence.

9. Although it has been proven that Rabbit's Raspberry Juice contains chemicals,
people still drink it.

(1) Rabbit's Raspberry Juice is considered unhealthy and people might get sick
drinking it.

(2) Rabbit's Raspberry Juice is filled with chemicals and therefore people like
drinking it.

(3) People drink Rabbit's Raspberry Juice despite the fact that it is filled with
chemicals.

(4) Don't drink Rabbit's Raspberry Juice, because you might die from the
dangerous chemicals in it.

10. An artist needs little talent and a great amount of perseverance in order to become
successful in his or her field.

(1) Success in art is the result of finding the right field in which the artist wishes
to succeed.

(2) An artist's determination, not talent, is what brings him or her success in their
field.

(3) A bit of talent and much determination are needed in order to be a successful
artist.

(4) Although most artists will tell you that talent is the most important factor for
success in arts, it is also very essential to have perseverance.

11. Due to the invention of the internet a few years ago more keys were added to the
computer keyboard, making new keyboards bigger than the old ones.

(1) Computer keyboards contain a certain amount of keys, since the internet was
invented and the keyboards got bigger.

(2) Since the internet was invented, more keys were taken out from the old
keyboards, making the new ones smaller.

(3) New keyboards are better than old ones, because they contain more keys, due
to the invention of the internet.

(4) The reason today's computer keyboards are bigger than old keyboards, is the
keys added to them due to the invention of the internet a few years ago.
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12. Bees collect nectar from flowers and bring it back to the hive in order to make
honey, which is a clear liquid, consisting mostly of water and also some complex
sugars.

(1) Honey, a complex liquid made of mostly water, is manufactured by a
procedure of wringing flowers.

(2) Bees produce honey, a liquid that is mostly water and part complex sugars,
after collecting nectar from flowers and bringing it to the hive.

(3) Most of the water that is brought to the hive by bees is used in order to make
honey in a sophisticated method.

(4) Although honey seems a very simple liquid made by bees, it is complex and
sugary.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For
each question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

®)

(10)

(15)

(20)

A small group of Jews in London attended a forum on hate, called "the Ugly
Side of the Forest City", which was hosted by the Association for the
Elimination of Hate. The objective of the forum was to promote an awareness of
hate and hate crimes in London.

Images of active white-supremacist groups were presented along with their
hate messages towards Jews, Muslims, gays and other groups. Hate graffiti was
shown as well. One member of the Jewish community said that although she
had lived in London her whole life, she was shocked by some of the hate groups
operating in London. "I can’t believe that London has so much cancer," she
said.

Every year there are around 12 hate crime charges laid in London, but Rich
Hitchens, manager of the program, says the actual number of hate crimes is
probably closer to 120 to 150. These cases go unreported because people feel
vulnerable, fear re-victimization or are simply too embarrassed to report the
incident.

Name-calling and harassment are expressions of hate, but because they
mostly constitute as freedom of speech, they are not considered a crime. Dr.
Bessie Borwein, who was involved in getting support for the creation of the
Association for the Elimination of Hate, claims that until people are personally
affected they don't feel threatened.

The main goal of the forum was outreach - to spark discussion, increase
awareness and encourage Londoners to report incidents of hate. In Borwein’s
words, "Ignorance is the enemy; knowledge is our friend. That's my personal
slogan."

Questions

13. What was the aim of the forum on hate?

(1) to promote hate and hate crimes

(2) to eliminate hate

(3) to make people aware of different forms of hate and hate crimes
(4) to encourage London Jews to attend the forum
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14.

In line 9, the word “cancer” refers to -

(1) the hate qroups in London

(2) ignorance

(3) freedom of speech

(4) an incurable medical phenomenon

15.

Name-calling is often not considered to be a crime because -

(1) it is freedom of speech

(2) it is an example of hate
(3) it is harassment

(4) it is personally threatening

16.

It can be inferred from the last paragraph that the author believes that -

(1) ignorance generates enemies

(2) awareness generates knowledge and understanding
(3) knowledge generates friends

(4) enemies are ignorant; friends are knowledgeable

17.

An appropriate title for this text would be -

(1) White-Supremacist Groups in London
(2) Jews Supporting the Association for the Elimination of Hate
(3) Awareness of Hate Crimes in London
(4) Name-Calling and Freedom of Speech
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Text II (Questions 18-22)

®)

(10)

(15)

(20)

Learning is defined as the act, process, or experience of acquiring
knowledge or skills. Memory is defined as the ability to store, retrieve, and act
on that knowledge. As we discover new things and make new connections,
learning strengthens the brain through assembling and sequencing. Human
beings learn from the moment of birth, and continue learning throughout their
lifetime. We constantly search for new explanations for the experiences we
have, and as a result learn new concepts.

Even though we prefer the familiar and are often uncomfortable with
change, the brain looks for innovation and responds accordingly. That’s why
repetitive learning frustrates us - the brain avoids meaningless stimuli. However,
when we appeal to the brain's natural ability to assimilate information, we can
integrate huge amounts.

In western society it was once believed that it is impossible for adults to
learn new things. Even today, if you conduct a survey on why adults cannot
learn, many people will begin answering the question without disputing the
argument. Many adults deny themselves of what should be one of the most
enriching parts of life because they assume they can't learn. In reality, the brain
strengthens neural pathways no matter what age we are or what subject or
context we’re exposed to, and thus we can learn at all stages of our lives.

Businesses today would benefit immensely from finding better ways to
learn - developing stronger minds among employees strengthens the
organization. We need to take advantage of our natural styles and then develop
systems that satisfy learning needs. An individual learning process is the only
way to re-create our environment and ourselves.

Questions

18. In the first paragraph, memory is described as -

(1) the act of acquiring knowledge or skills

(2) a set of actions performed on existing knowledge

(3) discovering new things and making new connections

(4) actions that explain and manipulate things we already know
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19.

It can be understood from the second paragraph that -

(1) learning by rote is frustrating and thus the brain looks for meaningless stimuli

(2) learning starts at birth and we are uncomfortable with change as we get older

(3) the brain searches for novelty

(4) learning never takes place because of the brain’s ability to avoid integrating
meaningless stimuli

20.

It can be understood from the third paragraph that -

(1) adults in western societies often assume that they can’t learn and therefore
deny themselves enrichment in life

(2) adults believe they can't learn because of western society.

(3) adults can’t learn and thus deny themselves one of the most enriching parts of
life

(4) adults answer questions without disputing and arguing

21.

According to the third paragraph, we can learn from everything the mind

perceives due to the fact that -

(1) the brain strengthens neural pathways depending only on age and subject

(2) scientists are not able to determine if neural pathways are strengthened in the
brain

(3) the neural pathways in the brain cannot be strengthened due to age

(4) neural pathways are strengthened in the brain no matter what our age or what
topic we’re exposed to

22,

An appropriate title for this text would be -

(1) Adult learning techniques

(2) How the brain functions

(3) Learning - a lifelong enriching experience
(4) The difference between learning and memory
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SECTION 6: ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its
number in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. The Victorian Age is named after Queen Victoria, who was of England at
the time.
(1) area (2) ruler (3) color (4) free

2. Designer Coco Chanel is for introducing the little black dress into the

fashion world.

(1) bottled (2) bargain (3) cramped (4) famous

3. Thenoted __ of Sherlock Holmes was not only a detective, but also a violinist.
(1) compound (2) debris (3) character (4) switch

4. A human being can store information in his short-term memory for __ 15
seconds.
(1) prior to (2) up to (3) lost to (4) due to

5. Blue jeans were first made to serve as ____ work clothes for miners.
(1) gullible (2) portable (3) curable (4) durable

6. The Ural Mountains are a natural border, ____ Asia from Europe.
(1) separating (2) generating (3) renovating (4) devastating

7. 30 years ago the idea of cloning a human was thought to be .

(1) infallible (2) impregnable (3) innumerable (4) impossible
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8. Increasing divorce rates and the weakening of religious practice may inevitably
lead to the of the marriage institution.

(1) absorption (2) collaboration  (3) termination (4) indentation

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of
restating the main idea of that sentence in different words. For each question, choose
the one restatement which best expresses the meaning of the original sentence.

9. Of all ball games, American football is the most aggressive.

(1) Ball games are not aggressive, excluding American football.

(2) There is no other ball more violent than the American ball.

(3) Football can be a very aggressive game, but it is by no means the most
aggressive of all ball games.

(4) American football is the most violent ball game of all.

10. Although being a flight attendant seems very glamorous, it is the same as being a
waiter except that it takes place on board an airplane.

(1) Glamorous flight attendants always work harder than waiters.

(2) Being a waiter, as glamorous as it may seem, is as difficult as being a flight
attendant.

(3) Flight attendants do not work as hard as waiters and their work seems very
glamorous.

(4) Flight attendants are waiters that work on board an airplane, and their job is
not as appealing as it may seem.

11. The famous kiss between Vivien Leigh and Clark Gable in the film Gone with the
Wind was actually not very romantic, as the actress complained about her
partner's bad breath.

(1) Clark Gable's bad breath is what resulted in the famous kiss, filmed in Gone
with the Wind between him and Vivien Leigh, being not very romantic.

(2) Vivien Leigh's bad breath is what caused the famous kiss in Gone with the
Wind to be not very romantic.

(3) A kiss with bad mouth breath is not very romantic, and should not be filmed
in movies such as Gone with the Wind.

(4) It was inconsiderate of Gable not to brush his teeth before kissing Miss Leigh
in the filming of Gone with the Wind.
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12. Although the term witch usually refers to an evil woman who practices magic, in
the book Harry Potter witches are highly skilled magicians who are not
necessarily bad.

(1) In the book Harry Potter witches are women who practice magic, and who
can be either evil or good hearted, while the term witch generally has negative
connotations.

(2) A highly skilled magician might be either good or bad, while a woman who
practices magic is evil.

(3) Harry Potter is a witch who is a highly skilled magician of the female gender,
and not an evil woman who practices magic.

(4) Witches in the book Harry Potter and in general can only good hearted, not
depending on their personal character.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For
each question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

More and more there appears to be an increase in rude, inconsiderate,
aggressive drivers on our roads - so much so that we’ve even added the
words, “road rage” to our vocabularies.

But what exactly is “road rage?” It’s an expression of such anger,

(35) frustration and anti-social behavior that it manifests itself in harmful driving
activity. Including actions such as beeping the horn, gesticulating, forcing a
car off the road, verbal abuse, bumping into another car, and physical assault
or even murder. It’s also a term much debated by experts.

Some say that “road rage” has been used to describe anything from
(10) criminal assault on the roads through to mild levels of frustration. Arnold
Nerenberg, a clinical psychologist from Whittier, California says that
occasionally expressing anger behind the wheel is normal. “What's abnormal
is when it goes beyond muttering to screaming and other aggressive actions.”
He claims that more than half of drivers have “road-rage disorder.”

(15) It seems that driving a car isolates us from the world, and gives us the
illusion of power and anonymity - a place where we feel we are masters of
our domain. Add to this the ever-increasing stress of work and our lifestyles
in general, and it’s obvious that we have a potentially lethal combination.
Even the most polite and sophisticated ladies and gentlemen can turn into

(20) monsters behind the wheel.

Over 85 percent of road ragers said that they would drop the matter if the
other “careless” driver simply apologized. Instead, road ragers claim, the
“careless” driver seems to be unconcerned about what they just did and,
therefore, needs to be taught a lesson.

Questions

13. According to the text, “road rage” is defined as -

(1) anti-social behavior that ends in murder

(2) anti-social behavior that includes rudeness, swearing and violence on the road

(3) anti-social behavior debated by experts

(4) anti-social behavior which is a result of people driving badly and behaving
violently
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14. The clinical psychologist, Aron Nerenberg claims that -

(1) a certain level of “road rage” is normal unless it becomes more violent than
sometimes expressing frustration and anger

(2) “road rage” is normal as long as it becomes violent and aggressive

(3) all drivers have “road rage” disorder, and therefore it is normal

(4) “road rage” can only be defined as such if it can be described as a criminal
assault

15. Inline 18, “lethal combination” refers to -

(1) the stresses of work together with our lifestyle

(2) polite people that turn into monsters when driving
(3) speed and anonymity

(4) stresses of life along with a feeling of anonymity

16. The conclusion reached in the last paragraph is that -

(1) 85% of drivers are unconcerned about the mistakes they make on the road

(2) a large percentage of all drivers believe that road rage is not caused by the
actions of inconsiderate drivers

(3) most people claim they wouldn’t experience “road rage” if inconsiderate
drivers apologized for their actions

(4) careless drivers should apologize and be taught a lesson

17. An appropriate title for this text would be -

(1) Road Rage in Israel

(2) Road Rage and Other Disorders

(3) The Spreading Phenomenon of Road Rage

(4) Monsters on the Road- Why and Where Does It Happen?
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Text II (Questions 18-22)

Recently the link between classroom teaching and theories on how people
learn has been researched. Discoveries in neuroscience and further
developments in psychology have also given us new insight about the brain.
Although there are some disagreements among scientists, some ideas are widely

3) accepted, and these can be used to improve classroom teaching.

There is still much debate on how and when neural connections are made.
Some claim that the electric circuits are completed by age five or six, others
believe that development continues into elementary school years, while others
still believe that new connections are formed even at late stages in life.

(10) Other studies explore the effects of attitudes and emotions on learning. They
show that a person's physical and emotional wellbeing are closely linked to
being able to think and learn successfully. This is the reason why stress and fear
are not productive to learning.

Another theory which is becoming popular is the Hemispheric Theory. This
(15)  generates teaching techniques that take into account dominance of the left or
right side of the brain. However, this theory tends to ignore the complex reality,
where the two sides of the brain work together. Also, children cannot be
categorized as exclusively left-brained or right-brained learners.

The collective result of all these findings is that educators and parents are
(20)  exposing children to a variety of learning experiences at a younger age. Number
sense, sequencing, patterns, counting, as well as the introduction of a second
language, are all activities intended to improve learning abilities.

Questions

18. The main purpose of the first paragraph is to discuss -

(1) the fact that that the human brain has all the neurons it will ever have at birth

(2) the research, theories and discoveries on how we learn and the lack of
widespread agreement

(3) the connection between research and classroom learning

(4) developments used nowadays in classrooms
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19. 1t can be inferred that researchers and scientists -

(1) believe that emotional wellbeing has nothing to do with learning

(2) do not study the link between neuroscience and learning

(3) are in agreement regarding the various theories

(4) are not in agreement regarding when and how neural connections are made

20. Inline 19, the words "these findings" refer to -

(1) new discoveries in neuroscience and psychology

(2) the fact that electrical circuits in the brain are completed by age five or six.
(3) new discoveries about stress and fear do not affect learning

(4) the fact children use either the right or the left hemispheres

21. The conclusion reached in the last paragraph is that -

(1) parents and teachers never accepted the results of the various learning
experiences

(2) number sequence, patterns, sequencing and counting are more important than
learning a second language

(3) parents and educators are exposing children to learning stimuli at an
increasing young age

(4) teaching children at a younger age is essential in teaching skills such as a
second language

22. An appropriate title for this text would be -

(1) The endless debate between scientists, educators and parents

(2) Theories on how people learn and their application in young children's life
(3) Neural connections - the key to rapid and lasting brain development

(4) When to start teaching your child
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SECTION 8: ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its
number in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. The most common ____in the United States is Smith.
(1) day (2) name (3) tent (4) home

2. In order to keep our teeth healthy and clean, itis ____ that we brush them at least
twice a day.
(1) incredible (2) important (3) repulsive (4) mysterious

3. The compact disc reached the market in 1982 and gradually ____ audio tapes and
records.
(1) cadled (2) grew (3) replaced (4) misled

4. The baby Koala's ears, eyes and fur grow after it has already been ___and is in

its mother's pouch.

(1) fried (2) predicted (3) shot (4) born

5. Although ice skates were used for transportation, ice-skating today is
mainly a recreation and sport.

(1) originally (2) unbearably (3) mercifully (4) indefinitely

6. The brothers Grimm traveled throughout Germany for their linguistic research

and gathered stories that were later published in their of fairy tales.
(1) collection (2) accusation (3) deprivation (4) assimilation
7. Oprah Winfrey, who was born to a poor family, is among America's 50

greatest philanthropists.

(1) coordinated (2) listed (3) stained (4) adapted

8. When resting, the adult human heart beats at a of 70-75 beats per minute.
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(1) hierarchy (2) spot (3) divergence (4) rate

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of
restating the main idea of that sentence in different words. For each question, choose
the one restatement which best expresses the meaning of the original sentence.

9. If medicines stop killing bacteria and viruses, then they are no longer useful.

(1) If medicines are useful, then they will stop killing bacteria and viruses.

(2) Medicines are of no use any longer if they stop killing bacteria and viruses.

(3) When medicines stop killing bacteria and viruses, there is still a chance that
they will prevent the disease.

(4) Medicines are no longer useful despite the fact that they have stopped killing
bacteria and viruses.

10. Though area shelters have made room for the increased number of homeless
looking for a warm place to stay during the bitter nights, days can also be
unbearably cold and snowy.

(1) Despite the fact that area shelters have made it possible for an increaing
number of homeless to stay in a warm place during cold nights, days can also
be terribly cold and snowy.

(2) Because days can also be unbearably cold and snowy, area shelters have
made room for the increased number of homeless looking for a warm place to
stay during the bitter nights.

(3) Despite the increased number of homeless looking for a warm place to stay
during the bitter nights, days in the area shelters can also be terribly cold and
SNOWY.

(4) Despite the area shelters looking for a warm place for the homeless to stay
during bitter nights, days can also be unbearably cold and snowy.

11. Many oil companies have carried out surveys in the Antarctic for oil, but it is not
clear whether they have found any there.

(1) It is not clear whether oil companies have found oil in the Antarctic, because
they have carried out surveys.

(2) Even though many oil companies have done surveys in the Antarctic for oil, it
is unclear as to whether they have found any there.

(3) It is not clear whether oil companies have carried out surveys in the Antarctic
or if they have found any oil there.

(4) Many oil companies have carried out surveys in the Antarctic for oil due to
the fact that it is unclear whether they have found any there.
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12. While completely eliminating the presence of unwanted individuals on
campus is an unlikely goal, Austen stresses that staff and students should not fear
for their safety.

(1) Austen stresses that staff and students should not fear for their safety while in
campus even though completely eliminating unwanted individuals on campus
is not likely.

(2) Getting rid of the presence of unwanted individuals on campus is unlikely,
and therefore Austen stresses that staff and students should not fear for their
safety.

(3) Eliminating the presence of unwanted individuals is complete, and thus
Austen stresses that staff and students should not fear for their safety while on
campus.

(4) According to Austen, staff and students should not fear for their safety
because completely eliminating the presence of unwanted individuals on
campus is unlikely.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For
each question, choose the most appropriate answer based on the text.

Text I (Questions 13-17)

Modern medicine has taken huge strides in dealing with medical
problems and diseases. However, modern technology has created new
medical problems, such as jet lag. Jet lag is a feeling of exhaustion,
disorientation and discomfort that are felt by many people who travel across

(5) time zones. Because it has become common, the causes of jet lag are being
researched and remedies are being found to help passengers cope better.

Traveling quickly across time zones disrupts our biological clock, which
in turn affects our heartbeat, body temperature and blood pressure, and
results in a feeling of exhaustion and disorientation called jet lag. As many

(10) " as ninety four percent of long-distance travelers suffer from jet lag, and
approximately forty five percent report of being severely bothered by their
symptoms.

There are ways of reducing the effects of jet lag. The airplane cabin is

very dry, so scientists recommend drinking lots of water and avoiding

(15) alcohol and coffee before and during flights due to the fact that they increase
dehydration. Melatonin is a substance that is recommended in reducing the
effects of jet lag. It is also recommended to be well rested before the flight
and to eat lots of starch, carbohydrates and greens before the flight. Of
course it is advisable to eliminate stress and anxiety as much as possible, but
keep in mind that so far there is no way to completely eliminate jet lag.

(20)

Questions

13. According to the first paragraph -

(1) modern technology cures medical problems while modern medicine increases
their number

(2) modern medicine creates more problems than modern technology cures

(3) modern medicine deals with medical problems as modern technology creates
new ones

(4) modern medicine deals with all our medical problems, except for jet lag

<@ x2n Tyy Tunn
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14. It can be inferred from the second paragraph that -

(1) 94% of all people suffer from jet lag

(2) 45% of all people suffer from jet lag

(3) 94% of long-distance experience jet lag, but only 45% of them are not
bothered by the symptoms

(4) 94% of long-distance passengers suffer from jet lag, and 45% suffer severely

15. Inline 15, “they” refers to -

(1) the effects of jet lag
(2) airplane cabins

(3) alcohol and coffee
(4) scientists

16. It can be inferred from the last paragraph that -

(1) although there are many recommendations in alleviating jet lag, it’s
impossible to totally prevent it

(2) melatonin is the only substance that cannot eliminate the effects of jet lag

(3) melatonin, the correct diet and elimination of stress completely eliminate the
effects of jet lag

(4) jet lag can be completely eliminated if handled correctly

17. An appropriate title for this text would be -

(1) How to cure jet lag

(2) Our biological clock

(3) The discomforts of long-distance traveling
(4) Modern medicine versus modern technology




(TN1-3-E) 208 (TN1-3-E)

Text II (Questions 18-22)

On July 4, 1976, a dramatic raid in Entebbe rescued dozens of hostages
from a hijacked plane in Uganda, Africa. Israeli commandos and
paratroopers carried out the hastily planned military operation in 99 minutes,
rescuing more than 100 hostages out of a terminal at Uganda's international

©) airport.

The crisis started when an Air France flight from Tel Aviv to Paris had
been hijacked by militants after a stopover in Athens. After refueling in
Libya, the plane continued to its final destination, Uganda. The terrorists
separated the Jews from the non-Jews and sent the latter to Paris. One of the

(10)  released hostages was a French-Jewish man who was mistakenly released
and who supplied information about the hijackers.

The Israeli operation included airlifting dozens of paratroopers to
Uganda in order to free the hostages. The chances of success were not high,
but the airport's blueprints - which were provided by the Israeli construction
(15)  company that had built the terminals, information about the hijackers from
the released hostages, and aerial photos taken by a Mossad agent just a few
hours before the operation was launched, all assisted to its success.

Only one soldier, Lt. Col. Jonathan (Yoni) Netanyahu, former Prime
Minister Benjamin Netanyahu’s older brother, was killed in action during the
(20)  heroic operation.

Questions

18. The main purpose of first paragraph is -

(1) to explain the danger of terrorism

(2) to show the strength of the Israeli army

(3) to give some basic information of the operation in Entebbe
(4) to describe how the plane was brought back to France

19. According to the second paragraph, the trouble began -

(1) shortly after the departure from Libya
(2) shortly after the departure from Paris
(3) shortly after the departure from Uganda
(4) shortly after the departure from Athens

<@ x2n Tyy Tunn
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20). It can be inferred from the third paragraph that -

(1) the probability of success was high, and certain information helped in
launching the operation

(2) the probability of success was slim, but that certain information acquired
assisted in launching the operation

(3) the chances of success were not high, but the airport’s blueprints were the
sole factor in releasing the hostages

(4) the chances of success were slim, but aerial photos taken by the Mossad was
the only factor in the release of the hostages

21. Inline 17, “its” refers to -

(1) the Mossad

(2) information about the hijackers
(3) the aerial photos

(4) the operation

22. An appropriate title for this text would be -

(1) 99 minutes to freedom

(2) Ugandan terrorism and its consequences world-wide
(3) Israel’s military operations during the 1970's

(4) Hijackers in Athens
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SECTION 2: ENGLISH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its
number in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. The first Israeli theater only plays in Russian.

(1) feathered (2) flew (3) featured (4) figured

2. In past times people believed that bathing can cause illness, and therefore

washed.
(1) seldom (2) hand (3) car (4) always
3. Although it is true that many dinosaurs were ____, some were no bigger than a
dog.
(2) brief (2) round (3) stuck (4) huge
4. Many of the foods that are given to farm animals can alsobe by humans.
(1) conceited (2) contradicted (3) consulted (4) consumed
5. __ many people think that Economy is a mathematical subject; it is actually

classified as one of the social sciences.

(1) Because (2) Due to (3) Since (4) Although

6. During bullfights, it is the movement of the flag, not its color, which the
bull to charge.

(1) causes (2) designs (3) crosses (4) deserves

7. There are 56 ethnic minorities living in China, but they only sum up to 3% of the
population.

(1) entire (2) conspire (3) expire (4) desire
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8. Einstein’s theory of relativity caused a scientific , changing the way
physicists think.

(1) retribution (2) revolution (3) release (4) relocation

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of
restating the main idea of that sentence in different words. For each question, choose
the one restatement which best expresses the meaning of the original sentence.

9. When I lived in Germany, | managed to make myself understood even though |
speak little German.

(1) I managed to make myself understood when I lived in Germany because |
speak little German.

(2) Due to the fact that I speak little German, | managed to make myself
understood when | lived in Germany.

(3) Living in Germany enabled me to speak little German and to be understood.

(4) Although I speak little German, | managed to make myself understood when |
lived in Germany.

10. Companies have taken several measures to prevent theft, but they did not get to
the heart of the problem.

(1) To get to the heart of the problem, companies have taken several measures.

(2) Even though several measures have been taken by companies to prevent theft,
they did not get to the heart of the problem.

(3) Several measures to prevent theft have been taken by companies in order to
get to the heart of the problem.

(4) Companies have taken several measures in order to prevent theft and get to
the heart of the problem.
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11. Germans have a desire to travel, a “Wanderlust” that they are rarely able to
translate into reality, and Karl May’s tales enable them to escape their mundane
existence and their social rigidity.

(1) Karl May’s tales provide Germans, who have a desire to travel but are rarely
able to do so, with an escape from their routine lives and social stringency.

(2) Karl May’s tales about the mundane existence and social rigidity of Germans
and their desire to travel, or “Wanderlust”, can rarely be translated into
reality.

(3) “Wanderlust”, the German desire to travel that can rarely be translated into
reality, represents an escape for Karl May from mundane existence and social
rigidity.

(4) Karl May’s tales represent an escape from the desire to travel, “Wanderlust”,
that German’s are rarely able to translate into reality.

12. Exciting discoveries in neuroscience and continued developments in cognitive
psychology have presented new ways of thinking about the brain.

(1) Continued developments of the brain and in cognitive psychology have
presented exciting discoveries in neuroscience.

(2) New ways of thinking about the brain have come about as a result of
discoveries in neuroscience and developments in cognitive psychology.

(3) Thinking about the brain has brought on exciting discoveries in neuroscience
and continued developments in cognitive psychology.

(4) The brain has presented new ways to think about neuroscience and cognitive

psychology.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For
each question, choose the most appropriate answer based on the text.

Text | (Questions 13-17)

(®)

(10)

(15)

(20)

(25)

Very soon, our computer could be able to read our minds. British and
American scientists have developed a computer that is able to identify
human emotions through the analysis of facial expressions. The computer
will detect common expressions such as a raised eyebrow or a nod of the
head, and interpret them. "The system we have developed allows a wide
range of mental states to be identified just by pointing a video camera at
someone,"” said Professor Peter Robinson of Cambridge University in
England.

Professor Robinson and his colleagues believe the mind-reading
computer applications could range from improving people's driving skills to
helping companies tailor advertising to people's moods. "Imagine a computer
that could pick the right emotional moment to try to sell you something, a
future where mobile phones, cars and Web sites could read our mind and
react to our moods," he added.

This new development could be useful in online teaching - the computer
can determine whether someone understands what is being explained to
them. Also it can improve road safety by determining whether a driver is
confused, bored or tired. "We are working with a big car company and they
envision this being employed in cars within five years," Robinson said,
adding that a camera could be built into the dashboard.

Some people may be intimidated by this new technology, fearing that it
may be too intrusive and put their privacy at risk. But Robinson says there is
a simple solution for this problem - anyone who does not want to give away
too much information about what they are feeling can just cover up the
camera.

Questions

13. An appropriate title for this text would be -

(1) How to reveal your emotions to a computer

(2) A mind reading computer: a new and useful invention

(3) A progress in the world of advertisement

(4) Improving road safety with the help of a mind reading computer
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14. The purpose of the first paragraph is to introduce -

(1) a newly developed computer that will be able to identify its operator's
feelings

(2) different facial expressions and which feelings they represent

(3) the use of mind reading computers in the advertisement industry

(4) computers that can express emotions and feelings

15. The word "tailor" in line 11 is closest in meaning to -

(1) clash
(2) pin
(3) wag
(4) match

16. The second paragraph is mainly about -

(1) uses for the mind reading computer

(2) the future of mobile phones, cars and Web sites
(3) improving drivers' skills

(4) different moods of tailors and other people

17. According to the third paragraph, how can a mind reading computer improve
safety on the road?

(1) by determining whether drivers understood what was explained to them

(2) by placing cameras inside cars

(3) by determining whether the driver is mentally fit to drive at a specific
moment

(4) by shaking drivers who are bored, tired or confused
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Text Il (Questions 18-22)

Guide dogs are dogs trained to lead blind or visually impaired people
around obstacles. The first guide dog training schools were established in
Germany during the First World War to enhance the mobility of soldiers
who were blinded in combat. The United States followed the German

(5)  example in 1929 with the Seeing Eye dog training school in Morristown,
New Jersey. This school was followed, two years later, by the British Guide
Dog Association.

Potential guide dogs come from various sources. Some organizations
breed and raise their own puppies, while some give away their puppies to
(10)  "foster families™ for a specific period of time; the family will raise the
puppies until they are ready for training. Some dogs are rescued from
shelters, although any dog that was picked to be a guide dog must be
healthy and desensitized.

When a dog becomes old enough to start training, most guide dog
(15)  schools will conduct a test to analyze its potential for the task at hand. If the
dog passes this test, it continues on to training with a harness, where it
learns to help a person move around safely. Among other things, it learns
how to walk around curbs and avoid overhead obstacles, and some dogs are
taught additional skills, such as retrieving items for their handler.

(20) This method of training is used for two to three months, during which
the dogs are not actually required to guide humans. Next, they are
individually trained by blind students, while the school or an individual
instructor oversees the process. Once the dogs finish their training, they
receive a diploma that certifies that they are professionally trained guide
dogs.

Questions

18. Why were guide dog training schools established in Germany?

(1) in order to help soldiers who came back blind from World War |

(2) because schools were opening everywhere around the world at that time
(3) because they had discovered that guide dogs were very helpful in combat
(4) in order to help blind people during World War |

19. According to the second paragraph, where do potential guide dog puppies not
come from?

(1) guide dog organizations
(2) foster families

(3) shelters

(4) public institutions




(TN2-2-E) 263 (TN2-2-E)

20. The third paragraph is mainly about -

(1) the training of dogs that have potential of becoming guide dogs

(2) atest all dogs must go through, which determines whether they are fit for a
guiding dog's job

(3) overhead obstacles and curbs

(4) the joint training of the dogs and their future owners

21. What is "the task at hand" mentioned in line 15?

(1) passing a test

(2) training a guide dog

(3) acting as a guide dog

(4) living with a foster family

22. The text is mainly about -

(1) guide dogs and their training

(2) the blind and the dogs that assist them
(3) the first guiding dog school in Germany
(4) how to pick a good guiding dog
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SECTION 6: ENG |_ | SH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its number
in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. The Siberian Tiger is the of all tigers.

(2) fall (2) largest (3) strong (4) flea
2. Aglass of natural orange juice ____ four teaspoons of sugar.
(1) salutes (2) remains (3) contains (4) defines
3. Inthe year 1972 scientists were ____in teaching sign language to an ape.
(1) barren (2) successful (3) flaked (4) mournful

4. The Hummingbird is the only type of bird that is of flying backwards.

(1) commerce (2) capable (3) circulation (4) contrast

5. During the first months of their lives, babies are unable to willingly communicate
with their .

(1) themselves (2) insights (3) distrupt (4) surroundings

6. Inancient Egypt only priests were permitted to wear cotton .

(1) severs (2) ovens (3) hermits (4) garments

7. The temperature of the sea turtle’s nest plays a key role in the gender of its
offspring.
(1) abducting (2) determining (3) exploiting (4) refraining

8. Before she became the Prime Minister of England, Margaret Thatcher worked as a
chemist, developing methods for the of ice-cream.

(1) attraction (2) prevention (3) inflation (4) preservation




(TN2-6-E) 291 (TN2-6-E)

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating
the main idea of that sentence in different words. For each question, choose the one
restatement which best expresses the meaning of the original sentence.

9. The three survivors staggered on, regardless of the recurrent blizzards and biting
cold.

(1) The recurrent blizzards and biting cold encouraged the survivors to stagger on.

(2) Because of the recurrent blizzards and biting cold, the three survivors
staggered on.

(3) Despite the recurrent blizzards and biting cold, the three survivors staggered
on.

(4) The recurrent blizzards and biting cold continued, as the three survivors
staggered on.

10. Many aquatic life-forms use camouflage in order to blend into their surroundings
and avoid being eaten.

(1) Many oceanic animals are eaten because they cannot blend in with their
surroundings.

(2) Camouflage is a good defense mechanism, since it allows the animal to be
eaten by its environment.

(3) A lot of sea creatures who do not wish to become prey never use camouflage
in order to escape their predators.

(4) Camouflage is used by many sea creatures in order to avoid becoming prey by
blending in with their environment.

11. Each department is responsible for its own security and there is little financial
incentive to protect equipment, because the cost of replacing it is often less than
that of protecting it.

(1) The cost of replacing equipment is often less than that of protecting it, and
therefore each department is responsible to provide financial incentives for its
own security.

(2) Due to the fact that it often costs less to replace equipment than to protect it,
there is little financial incentive to protect equipment and each department is
responsible for its own security.

(3) Each department is responsible for its own security because the financial
incentive to protect the equipment is greater than the cost of replacing it.

(4) There is little financial incentive to protect equipment, and therefore each
department is not responsible for protecting and replacing it.
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12. The Hemispheric Theory appears to explain observable differences among
learners, and following it designations of “left-brained” and “right-brained” have
appeared in our culture.

(1) Observable differences among learners have appeared in our culture and thus
the need for the “left-brained” and “right-brained” Hemispheric Theory.

(2) The terms “left-brained” and “right-brained” that have appeared in our culture
explain the observable differences among learners in the northern and southern
Hemispheres.

(3) The Hemispheric Theory seems to explain why designations of “left-brained”
and “right-brained” have appeared in our culture.

(4) Terms such as “left-brained” and “right-brained” are becoming accepted in our
culture due to the Hemispheric Theory that seems to explain apparent
differences in the way people learn.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text | (Questions 13-17)

D) The long, steady decline in teen smoking in the United States since the
late 1990s appears to have come to a standstill. A survey showed that
between 2003 and 2005 around one in four teenagers were smoking. Two
other surveys in the past year or so revealed the same findings: teen smoking

(5) has apparently plateaued since 2002.

"We were making good progress, and now it looks like we're not," said
Dr. Corinne Husten, acting director of the Office on Smoking and Health at
the Centers for Disease Control and Prevention. Vince Willmore, a
spokesman for the Campaign for Tobacco-Free Kids said that the fact that
(10)  youth smoking rates are not declining anymore is a wake-up call.

A survey which is conducted every other year among about 14,000 high
school students had revealed this trend in youth smoking habits. The survey
had been showing a steady and pronounced decline in youth smoking since
1997, when more than 36 percent of students said they had smoked in the

(15)  previous 30 days. The percentages dropped to about 35 in 1999, 28.5 in 2001
and 22 in 2003. But last spring, 23 percent said they had smoked. The
increase from the 2003 survey was not considered statistically significant,
but it made headlines.

Still, there was also some good news in the survey. There were continued
(20)  declines in the percentages of high school students who were heavy smokers,
had ever tried smoking, or had smoked on school property. Nonetheless, the
number of youngsters who say they have had a cigarette in the last 30 days is
considered the most accepted indicator of the prevalence of smoking among
teenagers.

Questions

13. Inline 5, "plateaued" can be replaced by -

(1) risen

(2) stayed in a straight line
(3) declined

(4) vanished
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14. why did Dr. Huston say, "We were making good progress, and now it looks
like we're not" (line 6)?

(1) the level of teen smokers had stayed the same in the last few years

(2) more teenagers smoke today than 10 years ago

(3) there are more smokers in the United States than in any other western country
(4) Dr. Huston was confused because of the surveys' results

15. The third paragraph is mainly about -

(1) smoking trends in teenagers from 1997 to 2003

(2) the dangers of smoking from an early age

(3) the percentage of students smoking in the past few days
(4) the good news found in the survey

16. According to the fourth paragraph, an answer to what question is considered to be
most important in revealing the trends in teen smoking?

(1) Do you smoke on school property?

(2) Do you smoke at home?

(3) Do you consider yourself to be a heavy smoker?
(4) Have you smoked a cigarette in the last thirty days?

17. Anappropriate title for the text would be -

(1) A gradual decline in youth smoking during the 1990s

(2) A survey reveals: teen smoking trends are at a standstill

(3) CDC's survey determines that teenagers smoke more than adults
(4) The danger of smoking in the new millennium
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Text Il (Questions 18-22)

1) A year and half after a deadly tsunami killed more than 200,000 people
in the Indian Ocean region, a tsunami early warning system is now up and
running. Experts believe that this system could prevent the loss of many
lives, should a similar natural disaster occur. In fact, it is particularly

(5) essential in third world countries, where emergency services are usually less
advanced.

The system, that was set up and coordinated by UNESCO, consists of a
seismic network, a set of buoys deployed throughout the Indian Ocean, and
several deep-ocean pressure centers that measure the power and frequency of

(10)  waves. When seismic activity occurs, all data is transmitted in real time to
the tsunami warning centers in Japan and Hawaii. If a potentially
tsunami-generating quake occurs in the Indian Ocean, these centers will
issue a warning to the authorities in 24 countries around the Indian Ocean.

However, the operational aspect of the system does not yet function with
(15)  full efficiency. For example, downstream flow of information from local
authorities to the populations and communities is most often delayed,
especially in third world countries. This may render the system completely
useless during crisis, and result in the loss of many lives. "If a tsunami were
to strike tonight, millions living near beaches around the Indian Ocean would
(20)  still not be alerted in time", says UNESCO spokeswoman Sue Williams.

Even in countries where dissemination systems are in place, they may not
work. UNESCO officials say, that the new systems need to be tested in real
situations and that new communication tools are vulnerable to saturation
when they are most needed. Also, New siren systems may be heard on one

(25)  side of a bay but not on the other.

Questions

18. According to the first paragraph, why is the system more important in third world
countries?

(1) because when the system wasn't working well a year and half earlier and the
tsunami killed 200,000 people

(2) since the emergency services are not as advanced there as they are in
developed countries

(3) because those countries do not yet have this system and without UNESCO are
not able to afford its cost

(4) because in third world countries there are not enough staff to operate the new
system
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19. The purpose of the second paragraph is-

(1) to introduce the tsunami early warning system and its components
(2) to explain the part of UNESCO in setting up the system

(3) to introduce pressure centers deep in the ocean

(4) to discuss whether the new system is working well

20.

In line 10, "real time" can be replaced by -

(1) truthfulness
(2) previously

(3) immediately
(4) incompetent

21. What is the problem mentioned in the third paragraph?

(2) local authorities are not capable of setting up a tsunami early warning system,
and therefore require the assistance of UNESCO

(2) although a tsunami early warning system is set up it cannot always detected
storms in the Indian Ocean

(3) 200,000 people died in the tsunami a year and a half ago because the tsunami
early warning system did not give an alert

(4) although a tsunami early warning system is running, ways of transmitting
alerts to the population are still not efficient

22. The fourth paragraph is mainly about -

(1) additional problems in the alert system

(2) the people in the region and their disappointment with the system
(3) UNESCO officials that work with the system

(4) other UNESCO projects around the world
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SECT | ON 8: ENG L | SH This section contains 22 questions.

The time allotted is 20 minutes.

The following section contains three types of questions: Sentence Completion,
Restatement and Reading Comprehension. Each question is followed by four possible
responses. Choose the response which best answers the question and mark its number
in the appropriate place on the answer sheet.

Sentence Completions (Questions 1-8)
This part consists of sentences with a word missing in each. For each
question, choose the answer which best completes the sentence.

1. Because advertisers use hidden messages, some people do not
advertisements.

(1) equal (2) like (3) despair (4) excite

2. Choosing the right job is important because workers want to their work and
get satisfaction from it.

(1) enjoy (2) behave (3) confuse (4) extreme

3. When the arteries get too narrow or get blocked, the heart has to work than it
did before.
(2) later (2) fairer (3) earlier (4) harder

4. The big change in fashion began in the late 1950's when teenagers started
blue jeans and t-shirts.

(1) wearing (2) admitting (3) lying (4) depending
5. Environmental groups claim that some government groups have been building

airstrips too to areas where penguins nest.

(1) commercial (2) comfortable (3) carefree (4) close
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6. Ecology is the study of living organisms with their physical, biological and
chemical :

(1) entertainment (2) redemption (3) rumors (4) environment
7. Dr Cristina Nogueira is one of several doctors and pharmacists who work in the
Amazon jungle, finding out about methods that local people use to cure .
(1) diseases (2) intrusions (3) confessions (4) manifests
8. The involvement of women in the armed forces is reflective of its government’s

attitude towards gender :

(1) equality (2) retirement (3) experiment (4) department

Restatements (Questions 9-12)

This part consists of several sentences, each followed by four possible ways of restating
the main idea of that sentence in different words. For each question, choose the one
restatement which best expresses the meaning of the original sentence.

9. In his will, Vladimir Lenin referred to Joseph Stalin, his predecessor, as an evil
man who should never be given too much power.

(1) Despite the fact that Vladimir Lenin described Joseph Stalin in his will as an
evil man who should never be given too much power, he still named him his
predecessor.

(2) Joseph Stalin took on the responsibility of being Vladimir Lenin's predecessor
even though he was an evil man.

(3) Joseph Stalin, Lenin's predecessor, was referred to in the will of Vladimir
Lenin as an evil man who should never be given too much power.

(4) Only after Joseph Stalin's rise to power was Vladimir Lenin's will found.

10. People are often intrigued by natural phenomena that are unexplainable.

(1) People are always more interested in phenomena that cannot be explained.

(2) Once a natural phenomenon is explained, people quickly lose interest in it.

(3) Although many people are interested in natural phenomena, very few can
explain them.

(4) Natural phenomena that cannot be explained are frequently the object of
people’s interest.
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11. Although we usually expect statistical data to be indisputably precise, this may not
always be the case.

(1) Although statistical data is undoubtedly exact, we sometimes do not believe it.

(2) Statistical data is often assumed to be absolutely exact, but this may not always
be true.

(3) Statistics are often not exact, but we usually believe the data ungquestionably.

(4) Because we often expect statistical data to be indisputably precise, we find it
hard to believe that it may be incorrect.

12. It is very difficult to conduct experiments in psychology, since it is seldom
possible to study people in a laboratory environment.

(1) It is rarely possible to conduct experiments in psychology, since observing
people in a laboratory environment is not difficult.

(2) People are seldom found in a laboratory environment, and therefore find it
difficult to conduct experiments in psychology.

(3) Itis rare to be able to observe people in a laboratory, and therefore
experiments in psychology are difficult to conduct.

(4) Psychology is a rare profession, and that is why people are seldom studied in
laboratory environments.
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Reading Comprehension
This part consists of two passages, each followed by several related questions. For each
question, choose the most appropriate answer based on the text.

Text | (Questions 13-17)

()

(10)

(15)

(20)

Jazz music developed at the end of the 19th century from black work songs,
field shouts, sorrow songs, hymns, and spirituals whose harmonic, rhythmic,
and melodic elements were mostly African. Because of its spontaneous,
emotional, and improvisational character, and because it is basically of black
origin and association, jazz did not, to some extent, get appropriate recognition.
European audiences have often been more open to jazz, and thus many
American jazz musicians have become expatriates.

At the beginning, jazz was slow to win acceptance by the general public, not
only because of its cultural origin, but also because it tended to suggest loose
morals and low social status. However, jazz gained a wide audience when white
orchestras adopted it. It became legitimate entertainment in the late 1930's when
Benny Goodman led racially mixed groups in concerts at Carnegie Hall.

Jazz is generally thought to have begun in New Orleans, spreading to
Chicago, Kansas City, New York City, and the West Coast. New Orleans (or
Dixieland) jazz was played by small bands. In the 1890's the pioneer black New
Orleans jazz band of Buddy Bolden was formed. The Original Dixieland Jazz
Band and the New Orleans Rhythm Kings, both white bands, successfully
introduced jazz to the northern United States.

Jazz artists in America have suffered much and received little. In many
cases the miseries of their lives and public indifference have driven them to find
relief in drugs and alcohol. Despite hardships they have produced a richly varied
art form in which improvisation and experimentation are imperative; jazz
promises continued growth in directions as yet unforeseeable.

Questions

13. An appropriate title for this text would be -

(1) Jazz in New Orleans

(2) Famous jazz bands at the turn of the 20" century
(3) The origins of Jazz and its spread despite hardships
(4) Jazz: an instant success
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14. According to the first paragraph, American jazz musicians moved to Europe
because -

(1) jazz developed from European work songs, field shouts, etc.
(2) the American way of life didn't suit them

(3) jazz was more respected there than in America

(4) they were exiled

15. Inline 9, "its" refers to -

(1) acceptance
(2) origins

(3) jazz

(4) general public

16. The purpose of the third paragraph is -

(1) to give information current jazz bands that operate in northern America
(2) to introduce New Orleans jazz and its leading jazz groups

(3) to illustrate how jazz from New Orleans had spread to northern Europe
(4) to explain why jazz was introduced in New Orleans

17. According to the fourth paragraph, one of the reasons that jazz musicians became
addicted to alcohol and drugs was -

(1) public indifference

(2) the fact that their music had become experimental and improvisational
(3) the fact that jazz grew in directions that were unforeseeable to them
(4) their rich art
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Text Il (Questions 18-22)

()

(10)

(15)

(20)

When Virginia Woolf published A Room of One's Own for the first time in
1929, it was an extension of an essay she based on lectures in two women's
colleges at Cambridge University that were carried out in 1928; the Newham
and Girton collages.

The most identified matter with Woolf's essay is the question whether
women are able to produce work in the high standards of William Shakespeare.
Judith, a fictional sister of William Shakespeare, was an invention of Woolf that
helped demonstrate that women with similar abilities to Shakespeare's would
not have the same development opportunities for them since society would not
tolerate that.

Among the authors careers which Woolf examined were Jane Austen's, the
Bronté sisters and George Eliot's. Woolf also subtly refers to some of the most
important intellectuals of the time, and Oxbridge - her hybrid name for the
University of Oxford and the University of Cambridge, has been marked as a
milestone in English satire.

The reason that it carries this specific title comes from the author's
conception that being a successful writer means that a woman must have private
space for herself in which to work and economic independence.

The enormous sarcasm and supreme irony used in A Room of One's Own is
when referring to the power-balance between men and women, made it almost
unanimously agreed that Virginia Woolf does not fail in convincingly getting
her view across to the reader. A Room of One's Own stands out as one of the
most important feminist essays of the beginning of the 20th century.

Questions

18. The purpose of the first paragraph is -

(1) to inform us of two women colleges at which Virginia Woolf had given

lectures

(2) to give some basic details about A Room of One's Own
(3) to determine whether A Room of One's Own is an important essay
(4) to lecture about the importance of having a room to one's self
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19. Shakespeare's sister mentioned in the second paragraph was a character brought on
by Woolf in order to demonstrate -

(1) how a woman with the same abilities as William Shakespeare would have been
prevented from expressing her talent due to social inequality

(2) the fate of Judith, Shakespeare's biological sister

(3) the great talent of the Shakespeare family, especially Judith's and William's

(4) how successful were talented women writers such as the Bronté sisters, George
Eliot and Jane Austen

20.

It is implied in the third paragraph that in her essay Virginia Woolf had
expressed -

(1) a supportive approach toward her fellow intellectuals and prominent
Universities such as Oxford University and Cambridge University

(2) her high esteem toward the University of Oxbridge

(3) judgmental opinion toward her fellow intellectuals and prominent Universities
such as Oxford University and Cambridge University

(4) her judgmental opinion toward Oxbridge University that didn't accept female
students

21,

In the fifth paragraph, what is "unanimously agreed"?

(1) The essay can be analyzed in many ways

(2) Virginia Woolf was successful in expressing her view in her essay
(3) A Room of One's Own is written in sarcasm and irony

(4) The book stands out as an important feminist essay

22,

The text is mainly -

(1) about William Shakespeare and his fictional sister Judith

(2) about Virginia Woolf's life as they were depicted in A Room of One's Own

(3) a report on the state of women writers throughout the years as it is reflected by
Virginia Woolf's life story

(4) an account of A Room of One's Own and its importance in pronouncing a
feminist view on the position of women writers throughout the years
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